
1) (-2) x (-4)

Answer: ____________

2)

A = 11  B
Find the Angle at side B.

Answer: ____________

3) 40.95 ÷ 6.3

Answer: ____________

4) 7.3 - 3.7

Answer: ____________

5) (-14) ÷ 2

Answer: ____________

6) (-14) ÷ 2

Answer: ____________

7) Solve by factorising 
x2 + 2x - 8 = 0

Answer: ____________

8) 07:05 am To 10:48 am

Answer: ____________

9) 8/10 + 3/7

Answer: ____________

10) A number is chosen at random from 
1 to 10. Find the probability of 
selecting multiples of 4.

Answer: ____________

11) 7/5 + 1/8

Answer: ____________

12) 23.92 ÷ 9.2

Answer: ____________

13) 31/2 x 46/7

Answer: ____________

14) A number was shared in the ratio 
10:5. The smaller share was 10. 
What was the total amount shared?

Answer: ____________

15) (2 x 4-3) x (6 x 24)

Answer: ____________
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16) Round 20.87 to 1 decimal places.

Answer: ____________

17) A number is chosen at random from 
1 to 10. Find the probability of 
selecting multiples of 5 and 1.

Answer: ____________

18) 1/2 + 5/7

Answer: ____________

19) (6 x 93) x (10 x 64)

Answer: ____________

20) 10 x 8 x 12 x 18

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 169 3) 6.5 4) 3.6 5) -7 6) -7 7) x = 2 or -4

8) 03 Hours 43 Mins 9) 18/35 10) 1/5 11) 121/40 12) 2.6 13) 17 14) 30

15) 3 16) 20.9 17) 1/1 18) 13/14 19) 56687040 20)
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